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me1k= {*Standard Model +)gSM = ?lot:[{alphaInvl [%, alpha3Mz, b3sm],
alphaInvl([x, alpha2Mz, b2sm], alphaInvl{x, 5/ 3 « alphalMz, blsm]},
{x, 2, 21}, Axes - Falge, Frame - True, FrameLabel —» {"Loglu {(u/Gevin, "1/a"}:
Plot8tyle -+ {{Gray, Dotted}, {Gray, Dotted}, {Gray. Dotted}}}
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10k .- 1
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5 0 15 20
Log, (1/GeV)

inf221= stichedalphal[alphaMz , b_List, thr List] :=
Module[ {sm, alphaMSSM, m2am, XThr},
XThr = Log[1l0, thr};
sm = alphalnvl[x, alphaMz, b[[1]], thr{[1]]]:
alphaMsSsM = 1 / alphaInvl[xThr[[2]], alphaMz, b[([1]], thr[[1]]];:
mssm = alphaInvl[x,
alphaMsSsM, b[[2]1], thr[[2]]]:
Plecewisge[{
{8m, x < xThr[[2]]}.
{mssm, xThr[[2]] < x}
H
]

inf23]= StichedAlphalZfalphaMz , b_List, thr List] :=
Module{ {sm, alphaMSSM, mssm, alphaMssM4hd, mgsmdhd, xThr},

xThr = Log[10, thr]; i
sm = alphaInvl[x, alphaMz, b[[1]], thr[[1]1]]; ‘
alphaMSsM = 1 / alphaInvl [xThr[[2]], alphaMz, b[[1]], thr[[1]]]:
mssm = alphaInvl[x,

alphaMssM, b[[2]], the{[2]1]};
alphaMs2sM4ihd = 1 / alphaInvl [xThr[[3]].,

alphaMssi, b[[2]], thr[[2]]];

mssméhd = alphaTnvi[x,

alphaMssidhd, b[[3]], thr[[3]]]1:
Piecewise[{

{sm, x < xThrf[2]]}.

{mssm, XThr[[2]] <= < xThr[[3}]},

{mssmdhd, xThr[[3]] s x}

i
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